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II. Practice

Find the equation of the line with the given slope that passes
the given point. Write the equation of the line in point-slope

1.m=2and(-1.-3) 2.m=-7and(l,-1)
3.m=-2and (-5,-2) 4.m=6and(2,5)
5.m=3and (0, 10) 6.m=-9 and (8, 9)

7.m=-1and (-6, 12) 8.m=0and (3,7)
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Find the equation of the line that passes through the given points. Write
the equation in point-slope form.

9.(-1.3) and (-2. 5) 10. (-7. 7) and (5. -6)
11. (1. 12) and (-3. 5) 12. (1. 9) and (-2, -2)
13.(-6. 10) and (2. -5) 14. (-8, 7) and (-3. -5)

15. (3. 3) and (4. 10) 16. (0. 9) and (-2. 11)
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The “point-slope” form of a line with slope m that passes through the
point (x1, y1) is given by the formula y — y; = m(x — xy).

When you are given the slope of a line and a point, or two points on a
line, it is easier to find the equation of the line in point-slope form than
in slope-intercept or standard form.

Example 1 Write the equation of the line with slope 2 that passes
through the point (-1, 5).

y=y1=m(x—xy) Write point-slope formula.
y=0)=mkx-(-1) Substitute 77 = 2 and

(Ly)=(L5)
y=5=2(x+1) Simplify.

The answer is y — 5 =2(x + 1).
You can also use the point-slope form to find the equation of a line that

passes through two given points.

Example 2 Write the equation of the line that passes through the points
(3.5)and (-1. 6).
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The answerisy—5= —Z(X—S).

Write the slope formula

Substitute (x1, y1) = (3. 5) and
(2.32) = (-1.6)
Write the point-slope form

Substitute m = —% and
(1. y) =3, 5).
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You can also use this form to write the equation of a line using data
from a table.

Example 3 Write the equation of the line that passes through the points
in the table:

X | Y
305
-1 8
1 |11
3 |14
_rse_ Y,V Write the slope formula

Substitute (x1, y1) = (-3, 5) and
(2.32) = (-1.8)
y=y1=m(x—xy) Write the point-slope form
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y=05)= %(x —(-3) Substitute m = % and

(r.3)=(-3.5).
Simplify.

y=5==(x+3)

o] w
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The answer is The answeris y—5= E(X +3).

Sometimes you will need to find the equation of a line given its graph.
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Example 4 Write the equation of the line graphed below.

www mathworksheetsgo comcalculator/

Notice that the graph passes through the points (0, 5) and (2, 1).
= Hse _ ¥,~ ¥ Write the slope formula
n X, X
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y=y1=m(x—x1)
y=5=2(x-0)
y-5=-2x

The answer is y — 5 = -2x.

Substitute (x1, y1) = (2, -2) and

(2. 72) = (0. 5)

Write the point-slope form
Substitute m = -2 and

(x1, 1) = (0, 5) into the point-slope
formula.

Simplify.




